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26. The demand curve for automobiles will shift to
the right if: A

A. the price of automobiles decreases.

B. interest rates increase.

C. advertising expendilures increase,

D

. the price of steel decreases.

27. Given limited budgets, consumers obtain the

miost satisfaction if they purchase goods and services

that:

A. cost the least.

B. provide the highest level of marginal utility,

C. provide the highest level of total utility.

D. provide the highest level of marginal utility per
dollar spent,

28. If the income elasticity of demand for a good is
greater than one, the good is:

A. an inferior good,

B. anoncyclical normal good.

C. acyclical normal good.
D

. neither a normal nor an inferior good.

29. When considering effects on the automobile
market, a decrease in auto worker health benefits
leads to:

A. ashift in supply.

B. ashift in demand.

C. movement along the supply curve,

D. movement along the demand curve.

30. A production function specifies the:

A. maximum possible output that can be produced
at a given cost.

B. maximum possible output that can be produced

given varying degrees of technological progress.
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C. minimum cost necessary to produce a given
output level.
D. minimum quantity of inputs necessary to

produce a given output level.

31. Right-angle shaped isoquants refiect inpuis that
are:

A. inefficient.

B. perfect complements.
C. perfect substitutes.
D

. imperfect substitutes.

32. In the decision process, management should
always consider:

A. historical costs.

B. relevant costs.

C. sunk costs.
D.

implicit costs only.

33. If the productivity of variable factors is

decreasing in the short-run:

A. marginal cosl must decrease as output
increases.

B. marginal cost must increase as output

increases.

€. average cost must decrease as output increases.

D. average cost must increase as output increases.

34. With the opportunity for beneficial learning, a
firm’s leaming curve is:

A. upward sloping.

downward sloping.

horizontal.

Vo

-vertical,

w
wy

. Fixed costs:
affect average variable costs.
influence marginal costs.

are used for short-run operating decisions.

O aow >

can safely be eliminated from the short-run

cost estimation process.
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36. The marginal cost relation derived from a cubic
cost function is a:

A. linear relation.

B. multiplicative relation.

C. quadratic cost function.
D

. cubic cost function.

37. The demand curve for a unique product without
substitutes is:

A. vertical.

B. upward sloping.

C. downward sloping.

b

. horizontal.

- 38. Wages for labor will be highest in labor

markets consisting of*

A. perlectly competilive buyers and sellers,

B. perfecily competitive buyers and a monopolist.

C. a monopsonist and perfectly competitive
sellers.

D. a monopsonist and monopolist.

39. A monopolistically competitive firm will carn
shott run positive economic profits if it firm can set
a price:

A. higher than minimum average cost.

B. equal to minimum average cosl.

C. higher than average cost.

D. equal to marginal revenue.

40. Concentration ratios:

A. understate the relative importance of domestic
firms when import competition is important,

B. overstate the relative importance of firms in
local markets.

C. ignore potential entrants.

D. measure the degree of buyer concentration.

41. During off-peak periods, firms should base
their markup pricing on:

BLEA




ik
#8

386
8#2G)

R P S B 2 R |

AREE © 386

# U 5z & 7

. historical costs.

A
B. fully allocated costs.
C. incremental costs.
D

. sunk costs.

42, Successful price discrimination requires:

A. identical price elasticities among submarkets.

B, the ability to prevent transfers among
customers in different submarkets.

C. inelastic demand in each submarket.

D. constant marginal costs.

43. A government policy that addresses market
failures caused by positive externalities is:

A. the establishment of operaling controls.

B. patent grants.

C. subsidies for pollution reduction.

D. tax policy.

44, Government seeks to aid economic efficiency

in the case of natural monopoly through:

A. breaking the natural monopolist up into smaller
competitors.

B. creating government-financed corporations to
compete with the natural monopolist,

C. subsidizing competitors.

D. price regulation.

45. When the allowed rate of return exceeds the

cost of capital:

A. industry will shifi to capital intensive methods
of production.

w

industry will not grow rapidly enough.
C. the combinations of inpuis employed by the
industry will be optimal.

D. the cost of capital will rise.

46, Above-normal profits reward:
A. innovation.

B. inefficiency.

C. workers.

D. suppliers.

47. Total revenue increases at a constant rate as
output increases when average revenue:

A. is constant.

B. increases as output increases.

C. increases and then decreases as output increases,
D. exceeds price.

48. Incremental profit is:

A. the change in profits eamned by the firm over a
brief period of time.

B. the change in profit that results from a unitary
change in output. -

C. total revenue minus total cost.

D. the change in profit caused by a given

managerial decision.

49. If marginal profit is positive, as output increases:
. average profit must increase.

A

B. iotal profit must decrease.
C. total profit must increase.
D

. average and total profit must increase.

50. If you are indifferent between $1 and a lottery
ticket that gives you a 0.001 chance of winning
$1,000 you are:

A. arisk seeker.

B. risk neutral.

C. risk averse.

D. risk elastic.
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